
Are these messages causing serious problems? At the moment the Multi-Trailer seems to work 
properly. I guess the reason for that message is the fact, that there are now two trailers but only 

one of them is actually processing data.
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Is this a proper way to work 
with two exit strategies or is a 
„Positions Viewer“ necessary?

The necessary adjustment in 
„Trade Event“: One more 
„Assign“ block added.



The strategy is supposed to use a certain trailer for every entry signal – are 
there any more adjustments necessary?


